> A
A & 0l & AF 2 E A A
2016 & =0l & L BHSI A AbSI = X 1t
SN ALSI S X
HE: HASS MO X
Chel: Q) =MESR (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A3l = X 2t 41,676,972 38,532,601 3,144,371
= 19,496,588
Xl 200,000
J| 525,252
< 6,277,851
Al 15,177,281
MNASE 420y X 9,500 9,500 0
B R, 9,500 9,500 0
ABIETEH 29 9,500 9,500 0
202 44l 4,000 4,000 0
01 SLHOYI 4,000 4,000 0
OAtsl =X gR=2 4,000
203 YR =&l 5,000 5,000 0
03 AIMZ=XH 2= H| 5,000 5,000 0
OAZI SR AM2HFZ 5,000
405 RHoHE S HI 500 500 0
02 = A=l 500 500 0
OMEISX d2EM 2 500
MEI=X Jlg 24 527,074 418,528 108,546
< 87,871
Al 439,203
N AgI =X J1gh 2= 527,074 418,528 108,546
< 87,871
Al 439,203
AMEBIEXAE SAR 1= 1,296 1,296 0
301 et a s 1,296 1,296 0
09 HALAMHI B &S 1,296 1,296 0
OA2ISXIAIE SALA 15 0 HI
81,000& » 2 * 2& * 43 1,296
MIASXANESAN EXN=E 436,270 334,800 101,470
< 87,871
Al 348,399
307 glz2+ol & 436,270 334,800 101,470
< 87,871
Al 348,399
10 ALSISXAIEEE 22X 436,270 334,800 101,470
OMEBISXIANESAL S 434,080
ool - ZOHeIAIA 386,200
< 77,200
Al 309,000
o0ts - A&t A4 47,880
< 9,576
Al 38,304




AN ALEI =X
M M=K 0IEE 24

@2 XA ARI=X J1g 2= (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAZISXAIES AR A2 2,190
< 1,095
Al 1,095
MBI EXAIY 29 2435t 89,508 82,432 7,076
307 21201 A 83,508 82,432 1,076
03 QIAHNHE2IHIEE 33,807 41,684 ANT,877
OLQls EHHMX 3 2HEX 18,344
OZOHQI S 2Ll (3MEA) 15,463
11T MISXASER 49,701 40,748 8,953
QXM SX ST AL (7OHESHH 10IHALS) 18,271
OHALEHES XS AL (MR 500 AFY) 12,970
OWEHME s SXSEAL (2 ALY) 16,460
OXY0tsdEH RelFel dgHe 2,000
401 Al HIZ 201 Y] 6,000 0 6,000
01 A& HI 6,000 0 6,000
OLQ3Xlz 242 B 6,000
Lol =X s& 21,152,529 20,895,548 256,981
= 12,617,342
J| 50,552
< 1,875,298
Al 6,609,337
Lo=EXAMEIA XA 19,306,232 19,602,988 A 296,756
= 12,129,645
J| 50,552
< 1,577,758
Al 5,548,277
Lol R At 2,146,427 1,950,280 196, 147
= 1,073,214
< 204,933
Al 868,280
307 glz2tol & 2,146,427 1,950,280 196, 147
= 1,073,214
< 204,933
Al 868,280
11T MISXASEX 2,146,427 1,950,280 196, 147
OLolgditel At 2,146,427
= 1,073,214
< 204,933
Al 868,280
Lo=k g8 4,572 4,572 0
202 04l 4,572 4,572 0
01 = LH 4 Hi 4,572 4,572 0
Okel=X gR=2
81,000& = 29 » 22 « 53 1,620
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2N
X ZH -
L= B

el

Akl = X1 ot
Lo =X &8
CA=SIMEIA X3

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MI2EZE+06l= 3,000 2,400 600
OLSEX(ME)ALE A2
500,000& = 3 * 23 3,000
REs Lo 23 1,620 1,620 0
301 et d=s 1,620 1,620 0
01 MI2ZE 6= 1,620 1,620 0
OREs Hz2d 25 1,620
o 2 &l 50,0003 = 10 » 2¢& 1,000
oAl 7,00021 * 34 * 10g * 2L 420
oIl =l 50,000& = 4H 200
=3 X 3 13,332,276 13,637,536 A 305,260
= 10,665,821
< 533,291
Al 2,133,164
301 et A=z 13,332,276 13,637,536 A 305,260
= 10,665,821
< 533,291
Al 2,133,164
01 AR 2Z A 53 13,332,276 13,637,536 305,260
OJI=a XNa 13,332,276
= 10,665,821
< 533,291
Al 2,133,164
Feolx=g s 18,720 32,640 A 13,920
< 3,744
Al 14,976
301 et d s 18,720 32,640 A 13,920
< 3,744
Al 14,976
01 MEI2EZE+06l= 18,720 32,640 A 13,920
OZx+=4 X3 18,720
< 3,744
Al 14,976
CF: AMIEH Z208 XA 30,000 51,000 A 21,000
< 9,000
Al 21,000
307 glz2+ol & 30,000 51,000 221,000
< 9,000
Al 21,000
10 ALSISEXAIEEE2GHEX 30,000 51,000 221,000
Odduzse 2 15,000
< 4,500
Al 10,500
OLolua & H2s 2I X (ML)
5,000,000& * 30H 4 15,000




szxm

(o
CEB - HS(3H) - HBAY - B Ol At o ﬁ}lgﬁ HRE2
= 4,500
Al 10,500
SIS XAIE ALZ X 26,928 26,928 0
301 LBt A= 26,928 26,928 0
08B MBI ER2IIEBAZ 26,928 26,928 0
OANZERRE BAZ2 26,928
LolAHZ2ARCH 3,000 3,000 0
307 2iz2to| A 3,000 3,000 0
01 s =t 3,000 3,000 0
Oz A AR 50,0008 » 60H 3,000
dZ2AGEY 2aZAl 81,900 74,952 6,948
307 QI2t0| & 81,900 74,952 6,948
11T A EXAIEEX 81,900 74,952 6,948
OZzAag 234l 3,5008 * 360Y * 653 81,900
AS MOt QL AL AFBHE AL 116,500 232,500 A 116,000
307 212t0| & 116,500 232,500 A 116,000
11 A EXAIEE X 116,500 232,500 A 116,000
OMASE TUIHLQl AIAIHHE (200 ) B
3,500 * 1009 * 250¢ 87,500
OMAE MO QI AIAIHHE (200Y ) S
2,500 * 10098 * 116Y 29,000
d2E 29 43 & 72,666 55,566 17,100
=} 4,960
Al 67,706
201 et d| 32,866 30,766 2,100
01 AP 2t 2] H| 28,956 26,856 2,100
OBZYAAT(HE=AIN) 2 17,736
oH& L olfH| 1,478,000 ~ 12& 17,736
OAZYAAT(HE=AU) *02 9,120
ocHUIIXNEE D=
60,000& = 5% x 2)H20t ~ 12& 7,200
ocENEN(H=RAHS)
30,000& = 2420k 128 720
oMIIIEDN(HE 100,000 * 12& 1,200
OF2eess NBYAH a4
70,000 * 23| 15 2,100
02 B32%H| 3,910 3,910 0
OZZYAANI &85 2HES 300,000 = 128 3,600
OZSMA(HS - SAF2Y ) CH 310
307 2izto| & 39,800 24,800 15,000
& 4,960
Al 34,840




SN ALSI S X
dM: Lol 2EX A
@ SSEXAMEA XJ (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 39,800 24,800 15,000
OZ2% =3 Zzg z¢e| 39,800
= 4,960
Al 34,840
229 29 & 231,000 234,381 A 3,381
< 46,200
Al 184,800
307 21201 A 231,000 234,381 A 3,381
< 46,200
Al 184,800
11T MISXASEX 231,000 234,381 A 3,381
OZ2g 294l 231,000
< 46,200
Al 184,800
MOt =XAE 2N 408,850 322,683 86,167
301 et a3z 320,000 233,833 86,167
01 MI2ZHE 6= 320,000 233,833 86,167
OLoFIIQYBE NNMEEZ2(IMIL) 320,000
307 glz2+ol & 88,850 88,850 0
10 AL SXAIEEE2EHEX 88,850 88,850 0
OMIEQAE 2EXA(1HL) 88,850
COMEAY 29 XI& 1,407,579 1,723,802 A 316,223
< 703,789
Al 703,790
301 et a3z 1,407,579 1,723,802 A 316,223
< 703,789
Al 703,790
01 MEIBEE 263 1,407,579 1,723,802 A 316,223
OLEIQYEE NUMEES 1,407,579
< 703,789
Al 703,790
dzg et X 142,500 138,000 4,500
< 28,500
Al 114,000
307 2201 A 142,500 138,000 4,500
< 28,500
Al 114,000
11 ALS S RALEE = 142,500 138,000 4,500
OZ2g gt 142,500
< 28,500
Al 114,000
LolEsS MHIA 558,015 488,394 69,621
= 390,610
< 33,231




A AMIEX
¥ Lo 2X 51
e SoEXAHA XS (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 134,174
301 LEtE A= 347,629 290,304 57,325
= 243,340
= 20,858
Al 83,431
01 Al E & A 462 347,629 290,304 57,325
Okos8 S AHA 347,629
= 243,340
& 20,858
Al 83,431
307 QI2t0| ™ 210,386 198,090 12,296
= 147,270
= 12,373
Al 50,743
10 A SEXNANEEHESIGH EX 210,386 198,090 12,296
OLolEE JI2AN8l A 201,314
= 140,920
& 11,829
Al 48,565
Okelss JIAIZtY 9,072
= 6,350
o 544
Al 2,178
Loss=Exa 89 317,120 256,088 61,032
307 QI2t0| ™ 290,120 256,088 34,032
10 Al SXNANEEHESIGHEX 290,120 256,088 34,032
OokoExa 291 290,120
401 AlEHIZL 201 Y| 27,000 0 27,000
01 Al&H| 27,000 0 27,000
OAHE2 AlE82 otEAEAHH| 27,000
Lolgdxie &= X 20,000 18,000 2,000
307 2iz2to| A 20,000 18,000 2,000
11T AISIEXAIEEX 20,000 18,000 2,000
O dXCIAIY 29 oAHH (1Y) 20,000
AMLOHEE X &9 150,191 125,183 25,008
307 QI2t0| ™ 150,191 125,183 25,008
10 MM SAANEEHESIGHEX 150,191 125,183 25,008
OAMLOZEE 29 150,191
Lolss SSUHAAAEH RE XS ALY 101,104 84,368 16,736
J| 50,552
= 10,110
Al 40,442
307 212t0| & 45,004 34,868 10, 136




SN ALSI S X
M Lol =X B
@ SSEXAMEA XJ (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 22,502
< 4,500
Al 18,002
10 ALSISXAIEEE2EH EX 45,004 34,868 10,136
Ok Ssed =20 A Y 45,004
J| 22,502
< 4,500
Al 18,002
402 RI2HXt20l ™ 56,100 49,500 6,600
J| 28,050
< 5,610
Al 22,440
01 B2t AP E X 56,100 49,500 6,600
Ok S2Sd S20 AAHEISAY 56,100
J| 28,050
< 5,610
Al 22,440
Lolsl Xg 249 41,249 35,418 5,831
307 glz2tol & 41,249 35,418 5,831
10 ALSISXAIEEE 2 H EX 41,249 35,418 5,831
OkLelslXlia 249l 41,249
HBXNA4HA T =M= 1,000 5,000 A 4,000
301 et a = 1,000 0 1,000
09 &AL HI B2 &S 1,000 0 1,000
OHZXA 4HAI2 HSME0tSUHa &t
20,000& = 509H 1,000
LOI=XAE DB &5 1,537,394 1,006,548 530,846
= 487,697
= 297,540
Al 752,157
Z2Y A4 =25 2 JIsdE 562,000 620,000 A 58,000
< 200,000
Al 362,000
206 M= Hl 5,000 0 5,000
01 M= 4l 5,000 0 5,000
OL® Y=Y A& B - 24 2201 7Y 5,000
401 AIEHI L 20| 550,000 620,000 A70,000
< 200,000
Al 350,000
01 A& HI 544,834 609, 254 264,420
OZRE UE L X (E=Es2=2Y) 244,834
< 100,000
Al 144,834
OkLs EHZZY HFNE(JIsEL) 300,000
< 100,000




A AMIEX
HH: Lo =X B
e ZOoEXAE DL &5 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 200,000
02 2teld| 5,166 10,746 A5,580
OztxzE H2HA = 22|
244,834,000 * 2.11% 5,166
405 XHAHF S HI 7,000 0 7,000
01 AL 2 EF S| 7,000 0 7,000
OZ=2E H3 ¢ 7,000
LoSXAE JIsdsE 975,394 386,548 588,846
=2 487,697
& 97,540
Al 390, 157
402 DIZVRHE 0| A 975,394 386,548 588,846
= 487,697
< 97,540
Al 390, 157
01 QIZEXIE2AIE 2 X 975,394 386,548 588,846
OLQEXAE JIIsSEBLA(SSMIIIN2 A=) 876,794
= 438,397
= 87,680
Al 350,717
OIS MII& A= HH 22 80,000
= 40,000
= 8,000
Al 32,000
OEHHAH AR 2 =H| 18,600
= 9,300
< 1,860
Al 7,440
A8 PR X4 308,903 286,012 22,891
223 22 29 308,903 286,012 22,891
101 e1214| 38,542 39,310 ANT768
04 JI2tHIZ22XNSESES 38,542 39,310 ANT768
OZ2araze 22X B4 15,102
oJlea 48,240 * 18 = 230Y 11,096
oFE LG 48 2402 * 1¥H * 48Y 2,316
o 2HAH| 3,000& « 1€ * 230¢ 690
o d&AEFIHY| 500,000& = 1 * 23| 1,000
O=22Qd Hx=&gyg & [Ae 2 2NES 23,440
ocllz2 48 2403 * 6Y * 64Y 18,525
oFS 4G 48,2403 ~ 6 * 13 3,763
o 2HAIH| 3,0008 » 6 * g4 1,152
201 et d| 148,561 145,502 3,059
01 AR 2t2l ] 25,779 23,920 1,859




SN ALSI S X
Ha: Lo =X 57
&©e: 2 FRES =4 (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ozdod 28 N28E & U529
150,000& * 12& 1,800
OM&ZH Xt 550,000& = 43| 2,200
O=t&a&d d=J gz 49,900& ~ 123 599
OB FIloEBE 442
650,000& = 123 7,800
OHHIABH 2=Hel2el ===
622,000& = 123 7,464
OFtEZ UIItHsALg2el =28
493,000& = 123 5,916
02 =224l 122,782 121,582 1,200
02323 % HA 33,520
o Xt = XAl 50,000& = 13l 50
cEIZMNERE S 35,000& = 23| 70
ocBAIA &ot=E2= 150,000& » 12& 1,800
ocZARA - SFEE HIZ
2,500,000& = 12& 30,000
cZRARA LSFNE 20,0002 * 80& 1,600
OZ33R& AESIHE HZYI U=
11,0002 128 132
OZAZH MEIINE FH=x2
165,000& * 128 1,980
Odzl 71,150
oZARA ¥ FHEHEE Yyl
550,000& * 53 2,750
ot FRFMUH 5,700,000& = 12& 68,400
O X+l 300,000& = 104 » 12& 3,600
OA&ZEHl Sl 8,200
o3t &E Al |X2el 4,000
cBRAIA ANE B2 3,000
oZ3ARA EHE CCTVR Al 2el
100,000& * 1204 1,200
OZ3Z& RUFHIAAE FA2e
350,000& = 123 4,200
206 M= Hl 20,600 20,600 0
01 24l 20,600 20,600 0
OHMYN 2o L Aazs 2 8,700
o 22H 30,000& = 150m’ 4,500
cdsEs 28,000& 150 4,200
O32I& OIME 7Y 570,000& * 10CH 5,700
OZ3Zd & st&& 2el Me+¢ 4,000
OS¥IY 22 (207
11,000& * 200m 2,200
401 Al HI K 201 I 100,000 80,000 20,000




o o )
- _ _ RE]
CEE B (BH) - HBRAY - BAS %Eﬁ HR=2
01 Al&H| 100,000 80,000 20,000
RASMS AX L 0HE 60,000
OZ2233 AN&Es B4 20,000
Oget @Y HH|(2001) 20,000
405 XHoHFE S HI 1,200 600 600
01 JHAt 2 E F S H 1,200 600 600
Ol =2l 2! 300,000 * 4CH 1,200
ool X X 5,581,296 5,133,201 448,095
= 1,797,397
o= 688,002
Al 3,095,897
OIS X AHlIA A 3,214,391 2,928,520 285,871
= 1,797,397
o= 669,822
Al 747 172
oI =2 X LXel At 109,000 115,000 A 6,000
= 54,500
= 10,900
Al 43,600
101 e1214| 109,000 115,000 A 6,000
= 54,500
= 10,900
Al 43,600
04 JI2tHI22XNEE S 109,000 115,000 A 6,000
OZHel EX LAelALS 109,000
= 54,500
& 10,900
Al 43,600
OIS EA Y EXT RS 900 900 0
201 Bt 900 900 0
01 AP 2t 2| H| 900 900 0
O&Oel Xt xHEX H& 1,000& = 30004 300
OFMNANSFIPSE HEX T X &
200,000 = 34 600
Z0CI=EX 2 5,012 5,012 0
201 LBt | 800 800 0
01 AP 22| d| 800 800 0
OXMI=X 82 & x2S X
200,000 = 424 800
202 o4l 4,212 4,212 0
01 2L HI 4,212 4,212 0
OFMHASX (NE) 2=
81,000& * 2% * 2Y x 133 4,212




AN ALEI =X

mE: Fojel =X S

Sl MOjI=R MHlA S CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ZOHQ BoAAIE HX 2el 2,000 2,000 0
201 £B-2d| 2,000 2,000 0
02 =224l 2,000 2,000 0
OFfelel=ZE |A&2l  150,0008 = 1291 & 1,800
OOl ZE HAH| 100,000 * 23] 200
HHMA =R =2 ALY 9,675 12,175 A 2,500
201 Let24d] 9,675 9,675 0
01 AtR 22l 6,875 6,875 0
OXH Mo =& X+ 2IIH M= 12,5008 * 550H 6,875
02 =224l 2,800 2,800 0
O ML E2 AMEFH X2l 1,000
Ofgd2 RoAHIAIAE S22
150,000& * 12& 1,800
Zofeloly At 10,000 10,000 0
307 glz2+0l & 10,000 10,000 0
11T MISRASEX 10,000 10,000 0
OFee & A X& 10,000
ZOHIEHH ALK 6,000 6,000 0
301 et a3z 6,000 6,000 0
09 #HALAHIZB &S 6,000 6,000 0
OFOHQl SHXl A &It 4,000
OFHe Mens &It 2,000
ZFoHAZ2 =X 13,344 12,265 1,079
< 2,669
Al 10,675
201 Let24E] 13,344 12,265 1,079
< 2,669
Al 10,675
01 At 22l 8l 13,344 12,265 1,079
QXA =X (200Y) 13,344
< 2,669
Al 10,675
o= K& (IN=) 154,911 179,899 A 24,988
= 108,438
< 13,942
Al 32,531
301 e A3 154,911 179,899 A 24,988
= 108,438
< 13,942
Al 32,531
01 MI28E+06l= 154,911 179,899 A 24,988
OFM==(lx) XN 154,911




2N
e =X B8

el

X ZH
S =

Akl = X1 ot

TOHOISR MHIA B

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 108,438
< 13,942
Al 32,531
ZOHQ Xt stdl XI& 820 2,279 21,459
= 656
< 33
Al 131
301 et d=s 820 2,279 A 1,459
= 656
< 33
Al 131
01 MEI2EZE+06l= 820 2,279 A 1,459
OFel AHn=H XA 820
= 656
< 33
Al 131
ZOHASERCH XA 2,884 2,790 94
2 1,442
< 288
Al 1,154
307 21201 A 2,884 2,790 94
2 1,442
< 288
Al 1,154
01 922724l 2,884 2,790 94
oZoe sE&Hl X& 2,884
2 1,442
< 288
Al 1,154
ZOoiel ME2XEI|2 ue 4,125 4,000 125
= 3,300
< 165
Al 660
307 21201 A 4,125 4,000 125
= 3,300
< 165
Al 660
01 2224l 4,125 4,000 125
OFel EXI|2 uL 4,125
= 3,300
< 165
Al 660
Zopel ozH XA 43,873 23,583 20,290
= 35,098
< 1,755
Al 7,020
307 glz2tol & 43,873 23,583 20,290
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